


WHAT IS IN THE PACKAGE:

1

2

3

4

5 6 7 8

9

10



ITEMS IN THE PACKAGE

1. NYLON STAY PART (CR3PSSADV-PT01) – 2 Nos
2. LARGE BASE BRACKETS (CR3PSSADV-PT02) – 2 Nos (LHS/RHS)
3. TOP MOUNTING BRACKETS (CR3PSSADV-PT03) – 2 Nos (LHS/RHS)
4. SHORT BASE BRACKETS (CR3PSSADV-PT04) – 2 Nos
5. M8 BOLTS – STAINLESS STEEL BUTTONHEAD (CR3PSSADV-PT05)– 10 Nos
6. ALUMINIUM HOLE INSERTS FOR STAYS (CR3PSSADV-PT06)– 10 Nos
7. M8 NYLOC NUTS (CR3PSSADV-PT07) – 8 Nos
8. 6MM WHITE NYLON SPACERS (CR3PSSADV-PT08) – 8 Nos 
9. M8 PLATED BOLTS (CR3PSSADV-PT09) – 4 Nos
10. M6 PLATED BOLTS (CR3PSSADV-PT10) – 2 Nos 



FASTENERS:
STEP 1: Install the top brackets

Top Mounting Bracket
(Left) - CR3PSSADV-PT03

Nylon Spacers
(CR3PSSADV-PT08)

M8 PLATED BOLTS 
(CR3PSSADV-PT09) 

Pillion Handle
Reference Part



Step 2: Install Side Stays

M8 BOLTS – STAINLESS STEEL 
BUTTONHEAD (CR3PSSADV-PT05)

ALUMINIUM HOLE INSERTS
(CR3PSSADV-PT06)

M8 NYLOC NUTS 
(CR3PSSADV-PT07)

NYLON STAY PART 
(CR3PSSADV-PT01)

TOP MOUNTING BRACKETS 
(CR3PSSADV-PT03)

Repeat Step 
on the right side too



T1
T2 T3 T4 T5 T6 T7

T8
Left Side

Use Holes T3 and T5 
for the Top Bracket 
Connection 
(CR3PSSADV-PT03)

B1

B2 B3 B4 B5 B6 B7 B8 B9

B10

Connect Short Base Bracket 
(CR3PSSADV-PT04) To B1

Connect Large Base Bracket 
(CR3PSSADV-PT02) To B5 & B7



Step 3: Connect Side Brackets to the Bike Wheel Arch Bolts

Use Nylon Spacers between the 
bike plastic and the saddle stay 
brackets using the longer bolts supplied.

Do not fully tighten them yet.

Repeat Step on the Right Side



Step 4: Alignment

- Align both sides and make sure they 
are exactly parallel to each other.

- Tighten all the bolts



Once aligned, this is how the final 
installation will be.

(Ref Pic)

PC: Asura Garage




